
Symbol No. ....................... RE-109'AP'SEE 2075 (2019)
clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft

gof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmd

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 306f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.













Symbol No. ....................... RE-109'BP'
SEE 2075 (2019)

clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft

gof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmd

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 306f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.













Symbol No. ....................... RE-109'CP'SEE 2075 (2019)
clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft

gof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmd

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 306f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.













Symbol No. ....................... RE-109'DP'
SEE 2075 (2019)

clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft

gof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|md

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 306f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.













Symbol No. ....................... RE-109'EP'
SEE 2075 (2019)

clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft

gof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmd

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 306f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.













Symbol No. ....................... RE-109'FP'
SEE 2075 (2019)

clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft

gof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|mdgof“ kf7\oj|md

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 306f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.













Symbol No. ....................... RE-109'GP'
SEE 2075 (2019)

clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft

gof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmd

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 306f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.













109-AP 

1 
 

SEE 2075 (2019) 

clgjfo{ul0ft 

pQ/s'l~hsf 

Give relevant marks for other correct alternatives methods also. 

k|= g+= pQ/ cª\s 
;d"x ‘s’ 

!=-s_      (  
 

   
)
 

 
 

1 

! -v_ Area of isosceles triangle = 
 

 
√       square units 1 

@ -s_ 1  1 

@ -v_ 
Lower quartile (Q1)  

Or first quartile  

1 

# -s_ Area of triangle = ½ area of square 1 

# -v_ Supplementary Or two right angle 1 

;d"x ‘v’ 

$ -s_ 
i.                  
ii. Rs. 2260   

1 

1 

$ -v_ 

i.       (  
 

   
)
 

 

               (  
  

   
)
 

 

ii.    
     

     
 (

  

   
)
 

 

   (   )  (   )  
           

 

 

1 

 

 

 

1 

% -s_ 
i.   

     

 
     

ii. Area of XYZ = cm
2
 

1 

1 

% -v_ 

i. 
 

 
              

 

ii. R = 24 cm   

1 

 

1 

% -u_ 

iii. 480=(10+8+BC)x20  
 

iv. 24 = 18+BC 

BC = 6 

1 

 

1 

^ -s_ 

i. 
  (    )

     
 

 

ii. 1 

1 

 

1 

^ -v_ 

i. 
(√   )

 

   
 

 

ii.    √  

1 

 
1 

& -s_ 

i. 1
st
 exp. = (x+y) (x-y)   

2
nd

 exp.=(x+y)
2
 

ii. LCM = (x+y)
2
 (x-y)   

1 

1 

& -v_ 

i.        
 

ii.       

1 

 

1 
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& -u_ 

2x + 2x + 2 = 42 

 x = 10  
 

i. Required number are  20 and 22 

1 

 
 

1 

 

* -s_ 

i. AXY = 60 cm
2
 

 

ii. AX = 10 cm   

1 

 

1 

* -v_ 

i.       
 

ii.       

1 

 

1 

* -u_ 

i.         
 

ii.       

1 

 

1 

( -s_ 

i. 
 

 
             √  

 

ii.         

1 

 

1 

( -v_ 

i.    
   

 
 

 

ii.       

1 

 

1 

!) -s_ 

i.  (     )   
 

 
     ( )   

 

 
 

 

ii.  (           )  
 

 
 

1 

 

1 

!) -v_ 

 

 

 

 

For 1st draw and 2nd draw  

 

 

 

 

 

 

1+1 
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;d"x ‘u’ 

!! 

 

i. Let n(U) be x                                                                    F             M 

Representation in Venn-diagram 
 

ii. x = 0.7x-4000 +40000+0.6x-4000+0.1x                               70%of x   4000    60% of x 

Or, 4000 = 0.4x                                                                -4000                 -4000 
 

x = 10000                                                                                                                    10% of x 

iii. no(F) = 3000  

 

 

1+1 
 

 

1 

 

1 

 

!@ 

i.              
        

   
 

=  6000 

ii. After 1 day 

          
 

   
        

RS.133 

iii. Again, exchanged  

 6000 = Rs. 133x6000= Rs. 7,98,000  

iv. Loss = Rs.8,40,000 – Rs.7,98,000 = Rs. 42,000 

 

1 

 

 

 

1 
 

1 
 

1 

!# 

i. Diameter (d) = 16 cm,  

 Radius (r) = 8 cm  

 Height of the cylindrical part h1 = 75 cm  

 Height of the cone  part h2 = (90-75)  

= 15 cm   

ii. Slant height of cone,   √  
     

 √       
        

iii. TSA =               
   (       ) 

iv. 
  

 
  (         ) 

              

 

 

 

 

1 

 

 
 

1 
 

 

1 
 

 

1 

!$ 

i. 1
st
 expression : b

2
(b+2c)

2
= b

2
 (b+2c) (b + 2c)  

ii. 2
nd

 expression: b
2
(b

3
+8c

3
)  

= b
2
(b+2c) (b

2
 – 2bc + 4c

2
) 

iii. 3
rd

 expression: b
2
(3b

2
 + bc – 10c

2
)   

= b
2
(23b

2
 + 6bc – 5bc – 10c

2
)  

= b
2
(b+2c) (3b – 5c) 

iv.  HCF = b
2
(b + 2c) 

1 

 
 

1 
 

 

 
1 
 

1 

!% 

i. 
             

(      )(      )
 

  

       
 

ii. 
  

       
 

  

       
 

iii. 
  (       )   (       )

(       )   (       )
 

iv. 
    

       
 

 

 

 

1 

 

1 

 

1 

 

1 

U 
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!^ 

i. ABNDCM 

ii. (ABN) = Area (DCM) with correct reason 

iii. Trap.ABCM- ABN = Trap. ABCM - DCM 

iv.  ABCD =  NBCM 

1 

1 

1 

1 

!& 

i. Construction of quadrilateral MNOP 

ii. Drawing PQ||MO 

iii. Joining MQ and conclusion  

1+1 

1 

1 

 

 

!* 

i. Two correct figures and to verify.  

ii. Table with correct measurement 

iii. Correct conclusion 

1 

1+1 

1 

!( 

i. Correct figure and introduction  

ii.        
  

  √ 
 

iii.         

 

iv. Height of tree (CD) = 20ft 

 

1 

 

1 

1 

 

 

1 

@) 

i. Construction of cumulative frequency table  

ii. Median class = 40-60 

iii. Median (md) =    
    

 
    

iv. Median (md) =60 

1 

1 

1 

1 

;d"x ‘3’ 

@! 

i. interest of 1
st
 year = Rs.5,000 

ii. Compound interest of 2
nd

 year = Rs. 5,637.50 

iii. Difference in interest = 637.5 

iv. 2
nd

> 1
st
 by 12.75  

Or 1
st
< 2

nd
 by 11.31   

1 

1+1 

 

1 

 

1 

@@ 

i. Slant height (l) = 5 ft 

ii. LSA of pyramid = 2x6x5 = 60 sq.ft.   

iii. LSA of cuboid = 4x6x8 = 192 sq. ft.  

iv. Total surface area of two pillars = 504 sq. ft.  

v. Total cost = Rs. 30,240 

1 

1 

1 

1 

1 

 

 

 

 



109-AP 
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@# 

i. lb = 1440 

ii. l+b = 76 

iii. l = 40 m  

iv. b = 36 m  

v. length is decreased by 10%   

1 

1 

1 

1 

1 

@$ 

i. Correct figures with description 

ii. SI||OM 

iii. IOM = SOM 

iv. SOK = IMK 

v. SM = OI 

1 

1 

1 

1 

1 
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1 
 

SEE 2075 (2019) 

clgjfo{ul0ft 

pQ/s'l~hsf 

Give relevant mark(s) for correct alternative methods. 

k|= g+= pQ/ cª\s 
;d"x ‘s’ 

!=-s_      (  
 

   
)
 

 
 

1 

! -v_ Area of an isosceles triangle = 
 

 
√       square cm. 1 

@ -s_ 1  1 

@ -v_ 
Lower quartile (Q1)  

Or first quartile  

1 

# -s_ Area of triangle = ½ area of square 1 

# -v_ sum is equal to two right angle or  are supplementary angles  1 

;d"x ‘v’ 

$ -s_ 
i. Price of bag including  VAT =     (  

  

   
) 

ii.  Rs. 1130 

1 

1 

$ -v_ 

i.       (  
 

   
)
 

 

                   (  
  

   
)
 

 

ii.    
      

         
 (

  

   
)
 

 

   (   )  (   )  
           

 

 

1 

 

 

 

1 

% -s_ 

i.   
       

 
    cm. 

ii. Area = √             square cm 

1 

1 

% -v_ 

i. 
 

 
             

 

ii.         

1 

 

1 

% -u_ 

i.     √               
 

ii. Area of rectangular surface = (AC + AB + B’C’) x AA’ 
1188 = (15+12+9) cm x AA’ 
           

1 

 

 

 

1 

^ -s_ 

i. 
  (   )

     

 

ii. 1 

1 

 

1 

^ -v_ 

i. 
√  √ 

√  √ 
 

√  √ 

√  √ 
 

 

ii.   √   

1 

 
1 

& -s_ 
i. a

2
 – b

2
 = (a – b) (a+b)  

ii. LCM = (a-b)
2
 (a + b)   

1 

1 

& -v_ 

i.       
 

ii.      

1 

 

1 

& -u_ i. Let the number be 2n and 2(n+1)  1 
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2 
 

So, 2n + 2n + 2 = 26  
 

ii. Required number are  12 and 14   

 
 

1 

* -s_ 

i. AQR = 36 cm
2
 

 

ii. AR = 9 cm   

1 

 

1 

* -v_ 

i.         , 4x +5x =    , x =     

 

ii.       

1 

 

1 

* -u_ 

i.          
 

ii.          

1 

 

1 

( -s_ 

i. 
 

 
             √  

 

ii.       

1 

 

1 

( -v_ 

i.    
    

 
 

 

ii.       

1 

 

1 

!) -s_ 

i.  (     )   
 

 
     ( )   

 

 
 

 

ii.  (           )  
 

 
 

1 

 

1 

!) -v_ 

 

 

For 1st draw and 2nd draw  

 

 

 

 

 

 

1+1 

;d"x ‘u’ 

!! 

                                                                                                       N() =100% 

i. Representation  in venn diagram                                       F             M 

ii. 100% = 35% + 30% + 20% +x% 

x = 15% 

iii. Let total number of students be y                                      35%    30%   20% 

15% of y = 450   
 

y = 3000                                                                                                    x%                                                 

iv. No(F) = 35% of 3000 = 1050 

 

1 

 

1 

 

1 

 

1 

!@ 

i.                
       

   
 

= US$ 5000 

ii. After 4 days, 

 

1 

 

 

U 
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US$          
  

   
        

            =  RS.99 

iii. US $5000 = RS. 99x 5000 
= Rs.495000 

iv. Loss = Rs.5,50,000 – Rs.4,95,000 = Rs. 55,000 

 

1 
 

1 
 

1 

!# 

i. Diameter (d) = 10 cm,  Radius (r) = 5 cm 

 Height of the cylinder part ( h1) = 128 cm  

 Height of the cone  part( h2 ) = (140-128) = 12 cm   

ii. Slant height of cone,   √  
     

                                      √       

        

iii. TSA =               
   (       ) 

iv. 
  

 
  (          ) 

= 
   

 
     

                 

 

 

1 

 

 
 

1 
 

 

1 
 

 

 
 

1 

!$ 

i. 1
st
 expression : p(p+2q)

2
 

= p(p+2q) (p+2q)  

ii. 2
nd

 expression: p(p
3
+8q

3
)   

= p(p+2q) (p
2
 – 2pq + 4q

2
)  

iii. 3
rd

 expression: p
2
(3p

2
 + pq – 10q

2
)   

= p
2
(3p

2
 + 6pq – 5pq – 10q

2
)  

= p
2
(3p - 5q) (p +2q)  

iv.  HCF = p (p + 2q)  

 

 

1 

 
 

1 
 

 

 
1 
 

1 

!% 

i. 
(      ) (      )

(      )(      )
 

  

        

ii. 
  

        
  

        

iii. 
  (       )

        
  (       )

        

iv. 
    

        

 

1 

 

1 

 

1 

 

1 

!^ 

i. NET ARM  

ii. Area (NET) = Area (ARM)  

iii. Trap. NAMT - NET = Trap. NAMT- NET 

iv. Area (NART) = Area (NAME)  

1 

1 

1 

1 

!& 

i. Construction of 75 at Q  

ii. Construction of quadrilateral PQRS  

iii. Construction of RP||SM  

iv. Conclusion: Area of triangle QRM = Area of quadrilateral PQRS  

1 

1 

1 

1 

!* 

i. Two correct figures and to verify.  

ii. Table with correct measurement 

iii. Correct conclusion 

1 

1+1 

1 
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!( 

i. Correct figure and introduction  

ii. AB = EC = 10 cm, DE = 12cm 

iii. In ADE  

       
  

  
 

 

√ 
 

  

  
 

           √  

 Distance between house and temple is 20.78 

1 

 

 

1 

 

 

1 

 

 

1 

@) 

i. Construction of cumulative frequency table  

ii. Median class = 20-30 

iii. Median =    
   

 
    

iv. Median age is 22.5 years 

1 

1 

1 

1 

;d"x ‘u’ 

@! 

i. Compound interest of 1
st
 year = Rs.10,000 

ii. Compound interest of 2
nd

 year = Rs. 11,275 

iii. C.I of 2
nd

 year  is 12.75% more than C.I.of 1
st
 year 

Or, C.I of 1
st
 year is 11.30% less than C.I. of 2

nd
 year.  

iv. Difference in interest due to compounded half-yearly or other  correct reason.  

1 

1+1 

 

1 

 

1 

@@ 

i. Slant height (l) = 5 ft 

ii. LSA of pyramid = 2x6x5 = 60 sq.ft.   

iii. LSA of cuboid = 4x6x8 = 192 sq. ft.  

iv. Total surface area of two pillars = 504 sq. ft.  

v. Total cost = Rs. 50400  

1 

1 

1 

1 

1 

@# 

i. lb = 720 

ii. l+b = 54 

iii. l = 30 m  

iv. b = 24 m  

v. length should be decreased by 20%   

1 

1 

1 

1 

1 

@$ 

i. Correct figures with description 

ii. BE||TS 

iii. Area (BLT) = area (ELS) 

iv. Arc BTS = Arc EST 

v. ET = BS  

1 

1 

1 

1 

1 

 



109-CP 

1 
 

SEE 2075 (2019) 

clgjfo{ ul0ft 

pQ/s'l~hsf 

Give relevant marks for other correct alternatives methods also. 

k|= g+= pQ/ cª\s 
;d"x ‘s’ 

!=-s_      (  
 

   
)
 

 
 

1 

! -v_ Area of isosceles  = 
 

 
√        square units 1 

@ -s_ 1  1 

@ -v_ Lower quartile = first quartile (Q1)   1 

# -s_ Area of triangle = ½ area of square 1 

# -v_ Two right angle or Supplementary. 1 

;d"x ‘v’ 

$ -s_ 

i. Price of bag = 1800 (  
  

   
)  

ii. Price of bag = Rs 2034   

1 

1 

$ -v_ 

i.       (  
 

   
)
 

 

                  (  
  

   
)
 

 

ii.    
       

       
 (

  

   
)
 

 

   (   )  (   )  

           

 

 

1 

 

 

 

1 

% -s_ 

i. S = 
       

 
     

ii. Area of MNO = √          84 cm2
  

1 

1 

% -v_ 

i. 
 

 
             

 

ii.        

1 

 

1 

% -u_ 

i. QR = √             

ii. Area of rectangular surface = (3+4+5) x PP'  

Or, 180 = 12PP'  

 PP' = 15 cm 

1 

 

 

1 

^ -s_ 

i. 
   (    )

     
   

 
   (  )

     
   

 

ii. 1 = 1 

1 

 

1 

^ -v_ 

i. 
√  √ 

√  √ 
 
√  √ 

√  √ 
 

 

ii.    √  

1 

 
1 
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2 
 

 

& -s_ 

i. 1
st
 exp.  P

2
 – q

2
 = (p + q) (p - q)  

2
nd

 exp. (p +q)
2
 = (p + q) (p + q) 

ii. LCM = (p +q)
2
   (p - q) 

1 

 

1 

& -v_ 

i.        

ii.      

1 

 

1 

& -u_ 

i. Let the two consecutive numbers x and x+2, then  

         
  

ii. Required numbers are 16 and 18  

 

1 

 
 

1 

* -s_ 

i. Area AXY = 32 cm
2
 

 

ii. AY = 8 cm   

1 

 

1 

* -v_ 

i.      
 

ii.         

1 

 

1 

* -u_ 

i.             
 

ii.         

1 

 

1 

( -s_ 

i. 
 

 
   √               

 

ii. EF      

1 

 

1 

( -v_ 

i.     
    

 
 

 

ii.       

1 

 

1 

!) -s_ 

iii.  (   )   
 

 
     ( )   

 

 
 

 

iv.  (            )  
 

 
 

1 

 

1 

!) -v_ 

 

 

 

For 1st draw and 2nd draw  

 

 

 

 

 

 

1+1 
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;d"x ‘u’ 

!! 

                                                                                                       N() =100% 

i. Representation of correct venn-diagram                            C            M 

  

                                                                                     (70-x)%   x%     (60-x)% 

ii. 100% = (70-x+x+60-x+20% 

x = 50%                                                                                                    20%                                

iii. Let, total number of people be y  

50% of y = 550  

y = 1100  

iv. No(C) = (20% of 1100  = 220  

 

 

 

1 

 

1 

 

1 

 

1 

!@ 

i.                 
        

   
 

= US$ 6000 

ii. After 4 days 

US$ 1 = Rs.110- 
  

   
       

= Rs. 99 

iii. US$ 6000 = Rs. 99 x 6000 

= Rs. 594000 

iv. Loss = Rs.660000 – Rs. 594000 = Rs. 66000 

 

1 

 

 

 

1 
 

1 
 

1 

!# 

Radius (=r) = 3 cm  

 Height of cylinder h = 116 cm  

 Height of the cone part h2 = 4 cm   

i. Slant height of cone   √  
      √      

        
 

ii. TSA =               
   (       ) 

 

iii. 
  

 
  (         ) 

  

 
     

iv.                  

 

 

 

1 

 

 
 

1 
 

 

1 
 

 

 
 

1 

!$ 

i. 1
st
 expression : (p + 2q)

2 
= (p + 2q) (p + 2q)   

ii. 2
nd

 expression: p{p
3
 + (2q)

3
} = p(p + 2q) (p

2
 – 2pq + 4q

2
)   

iii. 3
rd

 expression: p
2
(3p

2
 + pq – 10q

2
)   

= p
2
 (p + 2q) (3p – 5q) 

iv.  HCF = p + 2q   

1 

1 

1 

 

1 
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4 
 

!% 

i. 
       (      )

(      ) (      )
 

  

       
 

ii. 
  

       
 

  

       
 

iii. 
  (       )   (       )

(      ) (       )
 

iv. 
    

       
 

 

1 

 

1 

 

1 

 

1 

!^ 

i. EFJGHI  

ii. Area EFJ = Area GHI   

iii. Trap.  EFGI - GHI = Trap. EFGI - EFJ 

iv. Area of parm. EFGH = Area of Parm. FGIJ 

1 

1 

1 

1 

!& 

i. Construction of  75
O
 at O 

ii. Construction of quadrilateral MNOP  

iii. Construction of  NP||QM 

iv. Conclusion: Area of Quadrilateral MNOP = Area of PQO  

1 

1 

1 

1 

!* 

i. Two correct figures and to verify.  

ii. Table with correct measurement 

iii. Correct conclusion 

1 

1+1 

1 

!( 

i. Correct figure with description  

 

ii. AE = 25 m – 13 m = 12 m  

iii. In rt. angled ADE  

       
  

  
 

  
   

  
 

        

iv. Distance between house and temple = 12 m   

1 

1 

 

 

 

 

1 

1 

@) 

i. Construction of cumulative frequency table  

ii. Median class = 50-60 

iii. Median =    
    

 
    

iv. Median = 60 

1 

1 

1 

1 

;d"x ‘3’ 

@! 

i. Compound interest of 1
st
 year = Rs.5500 

ii. Compound Interest of 2
nd

 year = Rs. 6201.25 

iii. 2
nd

 year C.I is 12.75% more than 1
st
 year  

or, 1
st
 year C.I. is 11.30 less than 2

nd
 year   

iv. Difference in interest due to compound half yearly or other correct reason.  

1 

1+1 

 

1 

1 
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5 
 

@@ 

i. Slant height (l) = 5 ft 

ii. LSA of pyramid = 2x6x5 = 60 sq.ft.   

iii. LSA of cuboid = 4x6x8 = 192 sq. ft.  

iv. Total surface area of two pillars = 2(60+192) =504 sq. ft.  

v. Total cost = Rs. 37,800 

1 

1 

1 

1 

1 

@# 

i. lb = 3000 

ii. l+b = 110 

iii. l = 60 m  

iv. b = 50 m  

v. length is decreased by 16.67%   

1 

1 

1 

1 

1 

@$ 

i. Correct figure with description 

ii. KN||LM 

iii. Area of KPL= area of NPM 

iv.   ̂    ̂ 

v. KM  = LN 

1 

1 

1 

1 

1 

 



109-DP 

1 
 

SEE 2075 (2019) 

clgjfo{ ul0ft 

pQ/s'l~hsf 

Give relevant marks for other correct alternatives methods also. 

k|= g+= pQ/ cª\s 
;d"x ‘s’ 

!=-s_      (  
 

   
)
 

 
 

1 

! -v_ Area of isosceles  = 
 

 
√        square units 1 

@ -s_ 1  1 

@ -v_ Lower quartile Or,  first quartile (Q1)   1 

# -s_ Area of triangle = ½ area of square 1 

# -v_ Two right angle or Supplementary. 1 

;d"x ‘v’ 

$ -s_ 

i. 1400 + 13% of 1400  

ii.  Rs 1582  

1 

1 

$ -v_ 

i.                
  

   
   

 

ii.            

 

1 

 

1 

% -s_ 
i. S = 

     

 
    

ii. Area of MNO =  6 cm2
  

1 

1 

% -v_ 

i. 
 

 
            

 

ii.        

1 

 

1 

% -u_ 

i. 480cm2 =                  

ii. 48cm2 = (36 + AX) cm    

AX = 12 cm 

1 

 

1 

^ -s_ 

i. L.H.S= 
           

       
 

 
 

ii. 1  = R.H.S 

1 

 
1 

^ -v_ 

i. 
(√  √ )

 

(√ )
 
 (√ )

  

 

ii.    √   

1 

 

 

 

1 

& -s_ 

i. 1
st
 exp.  = (w + y) (w – y)   

2
nd

 exp. = (w +y) (w + y)   

ii. LCM = (w +y)
2
   (w - y) 

1 

 

1 

& -v_ 

i.        

ii.      

1 

 

1 
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2 
 

& -u_ 

i. Let the numbers be x and (x +2), then  

         

  
ii. Required numbers are 12 and 14  

 

1 

 
 

1 

* -s_ 

i. MAT = 80 cm
2
 

 

ii. MA = 10 cm   

1 

 

1 

* -v_ 

i.       
 

ii.         

1 

 

1 

* -u_ 

i.             
 

ii.        

1 

 

1 

( -s_ 

i. 
 

 
              √  

 

ii.       

1 

 

1 

( -v_ 

i.     
   

 
 

 

ii.       

1 

 

1 

!) -s_ 

i.            
 

 
          

 

 
 

ii.                
 

 
 

1 

 

1 

!) -v_ 

 

 

For 1st draw and 2nd draw  

 

 

 

 

 

 

1+1 

;d"x ‘u’ 

!! 

Let A and O denote the set of people who liked apple and orrange 

respectively. Let X% liked both fruits.       

                                                                                                 N() =100% 

i. Representation of correct venn-diagram                            A            O 

 

                                                     (60-x)% 

                                                     (70-x)% 

                                                                                                                    

                                                                                x% = 400               10%                                                                    

ii. 100% = (60-x+x+70-x+10)% 

x = 40%                                                                                                                                    

iii. Let, total number of people be y  

40% of y = 400  

y = 1000  

 

 

 

 

 

 

 

 

1 

 

 

 

 

1 

 

 

1 
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iv. No(A) = (60-40)%  of 1000  = 200  

 

 

 

 

 

1 

!@ 

i.                  
         

   
 

= US$ 10,000 

ii. After 1 days 

US$ 1 = Rs.110- 
 

   
       

= Rs. 104.50 

iii. Again exchanged,  

US$ 10,000 = Rs. 104.50 x 10,000 

= Rs. 10,45,000 

iv. Loss = Rs. 11,00,000 – Rs. 10,45,000 = Rs. 55000 

 

1 

 

 

 

1 
 

1 
 

1 

!# 

i. Diameter  (d) = 32 cm  

Radius (r) =  16 m 

       Height of cylindrical part (h1) = 150 cm  

 Height of the conical part (h2) = 180-150 = 30 cm   

ii. Slant height of cone     √  
      √        

         
 

iii. TSA =               
             

 

 
  

 
                 

iv.                

 

 

 

1 

 

 

1 
 

 

 

 

1 
 

 

1 

!$ 

i. 1
st
 expression : v

2
 (v + 2w)

2
 = v

2
(v + 2w)

  
(v+2w)  

ii. 2
nd

 expression: v
5
 + 8v

2
w

3
 = v

2
 (v + 2w) (v

2
 – 2vw + 4w

2
)  

iii. 3
rd

 expression: 3v
4
 + v

3
w – 10v

2
w

2
 = v

2
 (v + 2w) (3v – 5w) 

 

iv. HCF = v
2
 (v + 2w)   

1 

1 

1 

1 

!% 

i. 
             

                 
 

  

        

 

ii. 
  

        
  

        

 
 

iii. 
                       

                  
 

 

iv. 
    

        

 

1 

 
 

1 

 
1 

 

1 

!^ 

i. NGX  UAY  

ii. Area NGX = Area UAY   

iii. Trap.  NGAY- NGX = Trap. NGAY - UAY 

1 

1 

1 
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iv. Area of parm. GAUN = Area of Parm. GAYX 1 

!& 

i. Construction of  quadrilateral WXYZ   

ii. Drawing WY || ZB 

iii. Joining WB and conclusion 

1+1 

1 

1 

!* 

i. Two correct figures and to verify.  

ii. Table with correct measurement 

iii. Correct conclusion 

1 

1+1 

1 

!( 

i. Correct figure with description  

ii.        
  

  √ 
 

iii.  AE = 20ft  

iv. Height of the tree = 40 ft  

1 

1 

1 

1 

@) 

i. Construction of cumulative frequency table  

ii. Median class = 25-35 

iii. Median =    
    

 
    

iv. Median = 30 

1 

1 

1 

1 

;d"x ‘3’ 

@! 

i. Compound interest of 1
st
 year = Rs.6000 

ii. Compound Interest of 2
nd

 year = Rs. 6765 

iii. 2
nd

 year C.I is 12.75% more than 1
st
 year  

iv. Difference in interest due to compound half yearly or other correct reason.  

1 

1+1 

1 

1 

@@ 

i. Slant height (l) = 5 ft 

ii. LSA of pyramid = 2x6x5 = 60 sq.ft.   

iii. LSA of cuboid = 4x6x8 = 192 sq. ft.  

iv. Total surface area of two pillars = 2(60+192) =504 sq. ft.  

v. Total cost = Rs. 42840 

1 

1 

1 

1 

1 

@# 

i. lb = 1440 m
2
 

ii. l+b = 76 m 

iii. l = 40 m  

iv. b = 36 m  

v. length is decreased by 10%   

Note: Give full marks for the solving the problem accordint to given data.  

1 

1 

1 

1 

1 

@$ 

i. Correct figure with description 

ii. RU||AT 

iii. Area of RAT= area of UAT 

iv.           

v. RT  = AU 

1 

1 

1 

1 

1 
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SEE 2075 (2019) 

clgjfo{ul0ft 

pQ/s'l~hsf 

Give relevant marks for correct alternatives methods. 

k|= g+= pQ/ cª\s 
;d"x ‘s’ 

!=-s_      (  
 

   
)
 

 
 

1 

! -v_ A = 
 

 
√        1 

@ -s_ 1  1 

@ -v_ Lower quartile or,  first quartile (Q1)   1 

# -s_ Area of triangle = ½ area of square 1 

# -v_ Sum of the angles  = 180
O
 (Supplementary angle to each other  1 

;d"x ‘v’ 

$ -s_ 

i. VAT = 13% of Rs. 1500 = Rs. 195   

ii. Required amount = Rs 1695   

1 

1 

$ -v_ 

i.       (  
 

   
)
 

 

                (  
  

   
)
 

 

ii.    
      

      
 (

  

   
)
 

 

   (   )  (   )  

           

 

 

1 

 

 

 

1 

% -s_ 

i. EFG  
 

 
                    i)    ABC  

 

 
           ii. A = 84 cm2 

 
Or,  

i. Alternative, S = 28 cm  ii) A = 84 cm2
 

 

 

1+1 

 

% -v_ 

i. 
 

 
              

 

ii.         

1 

 

1 

% -u_ 

i. Let a = 4 cm, b = 3cm, h = 30cm 

 c = √      √             

ii. Area of rectangular surface = (a+b+c) x h  

= (4+3+5) cm x 30 cm  360 cm
2
 

1 

 

 

1 

^ -s_ 

i. 
   (   )

    
 

 

ii. 1 

1 

 

1 

^ -v_ 

i. 
√  √ 

√  √ 
 
√  √ 

√  √ 
 

 

ii. 
  √  

 
 

1 

 
1 
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2 
 

& -s_ 

i. 1
st
 exp. = (m + n) (m - n)  

2nd exp. = (m+n) (m+n)  

ii. LCM = (m - n) (m + n)
2
  

1 

 

1 

& -v_ 

i. (√   )     

ii.      

1 

 

1 

& -u_ 

i.          
  
 

ii. Two numbers are 6 and 8  

 

1 

 
 

1 

* -s_ 

i. ADM = 30 cm
2
 

 

ii. AM = 6 cm   

1 

 

1 

* -v_ 

i.       
 

ii.       

1 

 

1 

* -u_ 

i.         
 

ii.         

1 

 

1 

( -s_ 

i. 
 

 
            √  

 

ii.       

1 

 

1 

( -v_ 

i.     
    

 
 

 

ii.       

1 

 

1 

!) -s_ 

iii.  (     )   
 

 
     ( )   

 

 
 

 

iv.  (           )  
 

 
 

1 

 

1 

!) -v_ 

 

 

 

For 1st draw and 2nd draw  

 

 

 

 

 

 

1+1 
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;d"x ‘u’ 

!! 

                                                                                                       N() =100% 

i. n( ) = 100%, n(E) = 75%, n(M) =55%                             E            M 

n (   ̅̅ ̅̅ ̅̅ ̅̅ ̅) = 100, Let n (   ) = x% 

                                                                                     (70-x)%   x%     (60-x)% 

ii. 100% = (70-x+x+60-x+5)% 

x = 35%                                                                                                    10%                                

iii. Let, total number be y  

35% of y = 21,  

y = 60 

iv. No(M) = 12 

 

 

 

1 

 

1 

 

1 

 

1 

!@ 

i.                               
        

     
 

= Aus. dollar  1947.55 

ii. After 5 days 

Australian dollar 1 = Rs.                                 

iii. Australian dollar 1947.55 = Rs. 80.871 x 1947.55   

= Rs.157500.32 

iv. Profit = Rs.157500.32 – Rs. 150000 = Rs. 7500.32 

 

1 

 

 

 

1 
 

1 
 

1 

!# 

i.        Radius (=r) = 7 cm  

          Height of the Cone part h2 = 24 cm  

In 1
r
  

ii.       Slant height of cone   √       
                  

 

iii       TSA =               
                      (       ) 

                          = 
  

 
  (         ) 

 

       iv.                     

 

1 

 
 

1 
 

 

 

 

1 
 

 

1 

!$ 

i. 1
st
 expression : (a + 2b)

2 
= (a + 2b) (a+2b)   

ii. 2
nd

 expression: a
4
 + 8ab

3
 = a (a + 2b) (a

2
 – 2ab +4b

2
)   

iii. 3
rd

 expression: 3a
4
 + a

3
b – 10a

2
 b

2
  

= a
2
(3a

2
 + 6ab – 5ab – 10b

2
   

= a
2
 (a + 2b) (3a + 5b) 

iv.  HCF = a + 2b   

1 

1 

 

 

1 

1 

!% 

i. 
             )

(      ) (      )
 

  

       
 

ii. 
  

       
 

  

       
 

iii. 
  (       )   (       )

(      ) (       )
 

iv. 
    

       
 

 

1 

 

1 

 

1 

 

1 
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4 
 

!^ 

i. PQUSRT  

ii. PQU = SRT   

iii. Trap.  PQRT - PQU = Trap. PQRT - SRT 

iv. Area of parm. PQRS = Area of Parm. QRTU 

1 

1 

1 

1 

!& 

i. Construction of  quadrilateral PQRS 

ii. Drawing PR||TS 

iii. Conclusion: Area of QRT = Area of quadrilateral PQRS 

1+1 

1 

1 

!* 

i. Two correct figures and to verify.  

ii. Table with correct measurements 

iii. Correct conclusion 

1 

1+1 

1 

!( 

i. Correct of figure with description  

AB = height of temple 

CD = Height of a house 

 

In the rt angled AEC, 

ii.        
  

  
 

iii.   
   

  
 

iv.         

BD = CE = 10 m  

 

 

1 

1 

1 

1 

@) 

i. Construction of cumulative frequency table  

ii. Median class = 30-40 

iii. Median =    
     

 
    

iv. Median = 35 

1 

1 

1 

1 

;d"x ‘3’ 

@! 

i. Compound interest of 1
st
 year = Rs.4,000 

ii. Compound Interest of 2
nd

 year = Rs. 4510 

iii. Increased percent = 12.75% 

iv. Due to the compounded half yearly   

1 

1+1 

1 

1 

@@ 

i. Slant height (l) = 5 ft 

ii. LSA of pyramid = 2x6x5 = 60 sq.ft.   

iii. LSA of cuboid = 4x6x8 = 192 sq. ft.  

iv. Total surface area of two pillars = 2(60+192) =504 sq. ft.  

v. Total cost = Rs. 45,360  

1 

1 

1 

1 

1 

 

 

 

 

45O 
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@# 

i. lb = 2000 

ii. l+b = 90 

iii. l = 50 m  

iv. b = 40 m  

v. length is decreased by 20%   

1 

1 

1 

1 

1 

@$ 

i. Correct figure with description 

ii. PS||QR 

iii. Area of PQM= area of SMR 

iv.   ̂    ̂ 

v. PR  = SQ 

1 

1 

1 

1 

1 
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SEE 2075 (2019) 

clgjfo{ul0ft 

pQ/s'l~hsf 

Give relevant marks for correct alternatives methods also. 

k|= g+= pQ/ cª\s 
;d"x ‘s’ 

!=-s_      (  
 

   
)
 

 
 

1 

! -v_ Area of isosceles triangle = 
 

 
√        1 

@ -s_ 1  1 

@ -v_ Lower quartile = first quartile (Q1)   1 

# -s_ Area of triangle = ½ area of square 1 

# -v_ Two right angle or supplementary  1 

;d"x ‘v’ 

$ -s_ 
i. Rs. 1300 + 

  

   
      

ii. Rs. 1469 

1 

1 

$ -v_ 

i.       (  
 

   
)
 

 

                      (  
  

   
)
 

 

ii.    
         

         
 (

  

   
)
 

 

   (   )  (   )  
           

 

 

1 

 

 

 

1 

% -s_ 

i. Area of PQR 

 √        (             ) (            )(            ) 

ii. Area of PQR = 47 cm2
  

1 

1 

% -v_ 

i. 
   

  
          

 

ii.         

1 

 

1 

% -u_ 

i.            
      
 

ii. PR      m 

1 

 

 

 

1 

^ -s_ 

i. 
  (   )

    
 

 

ii.       

1 

 

1 

^ -v_ 

i. 
√  √ 

√  √ 
 
√  √ 

√  √ 
 

 

ii. 
   √  

 
 

1 

 
1 

& -s_ 

i. 1
st
 exp. = (p-q) (p+q)  

2
nd

 exp. =(p+q) (p+q)  

ii. LCM = (p-q) (p+q) (p+q)  

 

1 

1 
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& -v_ 

i. √      
 

ii.       
    

1 

 

1 

& -u_ 

i.          
 x = 5 
 

ii. Two numbers are 5 and 7  

 

1 

 
 

1 

* -s_ 

i. ABE = 24 cm
2
 

 

ii. AE = 8 cm   

1 

 

1 

* -v_ 

i.       
 

ii.       

1 

 

1 

* -u_ 

i.         
 

ii.       

1 

 

1 

( -s_ 

i. 
 

 
             √  

 

ii.       

1 

 

1 

( -v_ 

i.    
   

 
 

 

ii.       

1 

 

1 

!) -s_ 

i.  (    )   
 

 
     ( )   

 

 
 

 

ii.  (       )  
 

 
 

1 

 

1 

!) -v_ 

 

 

For 1st draw and 2nd draw  

 

 

 

 

 

 

1+1 
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;d"x ‘u’ 

!! 

                                                                                                       N() =100% 

i. N( ) = 100% , n(S) = 80%,                                               S             M 

n(M)=75%, n(   ̅̅ ̅̅ ̅̅ ̅̅ ) = 5%  

                                                                                    (80-x)%    x%     (75-x)% 

 

                                                                                                                  5% 

 

ii. Let, n(MS) = x% 

100%= (80-x+x+75-x+5%)                                             

x =60% 

Let, total no. be y  

60% of y = 300, y = 500  

iii. No(M) = (75-60% of 500 = 75  

 

 

 

 

 

1 

 

 

 

 

 

 

 
1 

 
1 

 
1 

!@ 

i.                
        

   
 

= US$ 3000 

ii. After 4 days 

US$                        

= Rs.121 

iii. US $3000 = Rs. 121xRs.3000 

= Rs.3,63,000 

iv. Profit = Rs.3,63,000 – Rs.3,30,000 = Rs. 33,000 

 

1 

 

 

 

1 
 

1 
 

1 

!# 

i. Radius (r) = 6 cm 

 Height of the cone part h2 = (28-20) = 8 cm   

ii. Slant height of cone,   √  
     

 √      
        
 

iii. TSA =               
   (       ) 

iv. 
  

 
  (         ) 

   

 
    

              

 

 

1 

 

 
 

1 
 

 

1 
 

 

 
 

1 

!$ 

i. 1
st
 expression : x(x+2y)

2
 

= (x+2y) (x+2y)  

ii. 2
nd

 expression: x(x
3
+8y

2
)   

= x(x+2y) (x
2
 – 2xy + 4y

2
)  

iii. 3
rd

 expression: x
2
(3x

2
 + 6xy – 5xy- 10y

2
)   

= x
2
(x + 2y)  (3x -5y)  

iv.  HCF = x (x + 2y)  

 

 

1 

 
 

1 

 

 
1 
 

1 



109-FP 

4 
 

!% 

i. 
(      ) (      )

(      )(      )
 

  

       
 

ii. 
  

           
 

  

       
 

iii. 
  

       
 

  

       
 

iv. 
    

       
 

 

1 

 

1 

 

1 

 

1 

!^ 

i. DBT NES  

ii. DBT = NES   

iii. Trap.  BESD - DBT = Trap. BESD - NES 

iv. Area of parm. BEST = Area of Parm. BEND   

1 

1 

1 

1 

!& 

i. Construction of  quadrilateral NAME   

ii. Drawing MN||ET  

iii. Conclusion: Area of triangle AMT = Area of quadrilateral NAME 

1+1 

1 

1 

!* 

i. Two correct figures and to verify.  

ii. Table with correct measurement 

iii. Correct conclusion 

1 

1+1 

1 

!( 

i. Correct figure + description  

ii.        
  

  
 

iii.    
  

√ 
         

iv.                

1 

1 

1 

1 

@) 

i. Construction of cumulative frequency table  

ii. Median class = 40-50 

iii. Median =    
    

 
    

iv. Median (Ma) = 44  

1 

1 

1 

1 

;d"x ‘3’ 

@! 

i. Interest of 1
st
 year = Rs.6,000 

ii. Interest of 2
nd

 year = Rs. 6765,275 

iii. Increased percent = 12.75 % 

iv. Because of compounding half yearly.  

1 

1+1 

1 

1 

@@ 

i. Slant height (l) = 5 ft 

ii. LSA of pyramid = 2x6x5 = 60 sq.ft.   

iii. LSA of cuboid = 4x6x8 = 192 sq. ft.  

iv. Total surface area of two pillars = 2(60+192) =504 sq. ft.  

v. Total cost = 504x110 = Rs. 55,440  

 

 

1 

1 

1 

1 

1 



109-FP 

5 
 

@# 

i. lb = 660 

ii. l+b = 52 

iii. l = 30 m  

iv. b = 22 m  

v. length is decreased by 26
 

 
%   

1 

1 

1 

1 

1 

@$ 

i. Correct figures with description 

ii. Chord AD||BC 

iii. Area of ABM = area of CMD 

iv. Arc BAD = Arc ACD 

v. Chord AC  = Chord BD  

1 

1 

1 

1 

1 
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SEE 2075 (2019) 

clgjfo{ul0ft 

pQ/s'l~hsf 

Give relevant marks for other correct alternatives methods also. 

k|= g+= pQ/ cª\s 
;d"x ‘s’ 

!=-s_      (  
 

   
)
 

 
 

1 

! -v_ Area of isosceles triangle = 
 

 
√        1 

@ -s_ 1  1 

@ -v_ Lower quartile = first quartile (Q1)   1 

# -s_ Area of triangle = ½ area of square 1 

# -v_ Sum = 180
O
  1 

;d"x ‘v’ 

$ -s_ 
i. Price after VAT = 3000 + 

  

   
      

ii. Price after VAT = 3000+390 = Rs. 3390 

1 

1 

$ -v_ 

i.       (  
 

   
)
 

 

                      (  
  

   
)
 

 

ii.    
         

         
 (

  

   
)
 

 

   (   )  (   )  
           

 

 

1 

 

 

 

1 

% -s_ 
i. Area of EFG  √   (     )(     ) (    ) 

ii. Area of EFG = √     = 60 cm2
  

1 

1 

% -v_ 

i. 
 

 
             

 

ii.        

1 

 

1 

% -u_ 

i.                    ( a is multiple of ratios) 
Or 720 = (5a+3a+4a) x 20 

a = 3  

ii. xy = 5a = 15 cm  

1 

 

 

 

1 

^ -s_ 

i. 
  (   )

    
 

 

ii. 1 

1 

 

1 

^ -v_ 

i. 
(√   )

 

   
 

 

ii. 
   √ 

 
   √  

1 

 
1 

& -s_ 

i. 1
st
 exp. (y + z) (y - z)  

2
nd

 exp. (y - z) (y - z)  

ii. LCM = (y + z) (y - z) (y - z) = (y - z)
2
 (y + z) 

1 

 

1 
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& -v_ 

i. √      
S.B.S. 

ii.             

 

1 

 

1 

& -u_ 

i.          
 x = 14 
 

ii. Two numbers are 14 and 16  

 

1 

 
 

1 

* -s_ 

i. PQT = 40 cm
2
 

 

ii. QT = 10 cm   

1 

 

1 

* -v_ 

i.       
 

ii.       

1 

 

1 

* -u_ 

i.         
 

ii.          

1 

 

1 

( -s_ 

i. 
 

 
            √  

 

ii.       

1 

 

1 

( -v_ 

i.     
    

 
 

 

ii.       

1 

 

1 

!) -s_ 

iii.  (   )   
 

 
     ( )   

 

 
 

 

iv.  (         )  
 

 
 

1 

 

1 

!) -v_ 

              Firs draw             second draw 

 

 

For 1st draw and 2nd draw  

 

 

 

 

 

 

1+1 
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;d"x ‘u’ 

!! 

Let, x be the percentage of passed students in both subjects.  

                                                                                                       N() =100% 

i. Presentation of Venn diagram                                             N           S 

 

                                                                                      (80-x)%    x%     (75-x)% 

ii. 100% = (80-x+x+75-x+5% 

x = 60%                                                                                                    5%                                

iii. Let, number of exam appeared students by   

60% of y = 300,  

y = 500  

iv. No(S) = (75 - 60)% of 500 = 75  

 

 

 

1 

 

1 

 

1 

 

1 

!@ 

i.              
        

   
 

= £ 5000 

ii. After 2 days 

£          
 

   
             

iii. Again, exchanged £5000 = Rs. 147 x 5000   

= Rs.7,35,000 

iv. Profit = Rs.7,35,000 – Rs.7,00,000 = Rs. 35,000 

 

1 

 

 

 

1 
 

1 
 

1 

!# 

Diameter (d) = 14 cm,  Radius (=r) = 7 cm   

 Height of the cylinder part h1 = 45 cm  

 Height of the cone part h2 = 24 cm   

i. In 1
r
  

Slant height   √       
         
 

ii. TSA =               
   (       ) 

 

iii. 
  

 
  (         ) 

 

iv.               

 

 

 

 

 

1 

 
 

 

1 
 

1 
 

 

1 

!$ 

i. 1
st
 expression : m

5
 + 8m

2
n

3
 = m

2
 (m + 2n) ( m

2
 -2mn + 4n

2
) 

ii. 2
nd

 expression: 3m
4
 + m

3
n – 10m

2
n

2
 = m

2
 (m+ 2n) (3m – 5n)  

iii. 3
rd

 expression: m
3
 + 4m

2
n + 4mn

2
 = m (m+2n)

2
 = m(m+2n) (m+2n) 

iv.  HCF = m(m + 2n)   

1 

1 

1 

1 

!% 

i. 
             )

(      ) (      )
 

  

       
 

ii. 
  

       
 

  

       
 

iii. 
  (       )   (       )

(      ) (       )
 

iv. 
    

       
 

 

 

1 

 

1 

 

1 

 

1 
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4 
 

!^ 

i. WZV XYV  

ii. WZV = XYU   

iii. Trap.  WXYZ - WZV = Trap. WXYZ - XYU 

iv. Area of parm. ZWXU = Area of Parm. WXYV 

1 

1 

1 

1 

!& 

i. Construction of  quadrilateral BEST 

ii. Drawing BS||TR 

iii. Conclusion: Area of quadrilateral = Area of Triangle BER 

1+1 

1 

1 

!* 

i. Two correct figures and to verify.  

ii. Table with correct measurement 

iii. Correct conclusion 

1 

1+1 

1 

 

!( 

i. Construction of figure with description  

ii.        
  

  
 

iii.           

iv.               

1 

1 

1 

1 

@) 

i. Construction of cumulative frequency table  

ii. Median class = 20-30 

iii. Median =    
     

 
    

iv. Median marks (M) = 26  

1 

1 

1 

1 

;d"x ‘3’ 

@! 

i. Compound interest of 1
st
 year = Rs.8,000 

ii. Compound Interest of 2
nd

 year = Rs. 9020 

iii. Difference in interest  = 1020 

iv. 2
nd

 year > 1
st
 year by 12.75%  

Or, 1
st
 year < 2

nd
 year by 11.30%   

1 

1+1 

1 

1 

@@ 

i. Slant height (l) = 5 ft 

ii. LSA of pyramid = 2x6x5 = 60 sq.ft.   

iii. LSA of cuboid = 4x6x8 = 192 sq. ft.  

iv. Total surface area of two pillars = 2(60+192) =504 sq. ft.  

v. Total cost = Rs. 40,320  

1 

1 

1 

1 

1 

@# 

i. lb = 500 

ii. l+b = 45 

iii. l = 25 m  

iv. b = 20 m  

v. length is decreased by 20%   

 

1 

1 

1 

1 

1 
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5 
 

@$ 

i. Correct figure with description 

ii. MP||NO 

iii. Area of MNO = area of NOP 

iv. Area of MNT = area of POT 

v. Chord MO  = Chord NP  

1 

1 

1 

1 

1 
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